Jak prepocitat zelatinu?

Kazd4 zelatina m4 svoji Zelirujici schopnost, ktera se méfi pomoci BLOOM stupnd. Cim vyssi stuper, tim
zelatina a jeji zelirujici schopnost je silnéjsi.

V pripadé vyuziti jiné zelatiny nez v originalni recepture je treba prepocitat mnozstvi zelatiny k dosazeni
stejného vysledku. V celé knize je vyuzita platkova zelatina o sile BLOOM Silver.

Mate vy
Sila zelatiny : :
Bronze Silver Platinum
Bronze X 0,79 0,63 0,57
Potrebujete | Silver 1,27 X 0,8 0,72
podle receptu | 4 1,58 1,24 X 0,89
Platinum 1,77 1,39 1,12 X

PRIKLAD

Recept vyzaduje 5¢ platkové zelatiny o sile Silver (150 az 180 bloom), ale chcete pouzit platkovou zelatinu
o sile Gold (190 az 220 bloom).

Pokud nahradite bez prepoctu ze Silver na Gold, tak krém bude pevnéjsi nez je treba, proto je treba
prepocet.

Pri prepoctu Silver na Gold zelatinu vidite v tabulce koeficient 0,8. Vypocet: 5 g x 0,8 = 4 g. Misto 5 g Silver
zelatiny pouzijte 4 g Gold Zelatiny.

How to recalculate gelatine?

Each gelatin has its own gelling ability, which is measured by BLOOM grades. The higher the grade, the
stronger the gelatin and its gelling ability.

If a different gelatine is used than in the original recipe, the amount of gelatine must be recalculated to
achieve the same result. BLOOM Silver strength gelatine is used throughout the book.

You have
The power of
gelatine Bronze Silver Gold Platinum
Bronze X 0,79 0,63 0,57
You need . 127 X 0.8 =
according to Silver
the recipe | Gold 1,58 1,24 X 0,89
Platinum 1,77 1,39 1,12 X
EXAMPLE

The recipe calls for 5g of Silver (150 to 180 bloom) gelatine, but you want to use Gold (190 to 220 bloom)
gelatine.

If you substitute without converting from Silver to Gold, the cream will be firmer than needed, therefore
there is a need for conversion.

When converting Silver gelatine to Gold gelatine, you will see a coefficient of 0,8 in the table. Calculation:
52X 0,8 = 4 g. Instead of 5 g of Silver gelatine, use 4 g of Gold gelatine.



